N

vVIEreior~s

2 Xx M6*16mm bolts

3 x M6 Washers

2 x Brackets (i7omm & 265mm)
1 x Fixed Block

4 x M5*12mm bolts

2 X M5 Nuts

1 x Connecting Piece (silex, BIG.NINE/SEVEN TFS)
2 X Fixed Pins

2 x Adjustable Pins

4 x M5*18mm bolts

1x M6*14mm Bolts

AQTITOMmMOOD >

-

Adapter Set (eBIG.NINE/SEVEN)
not included in the delivery

DE: Stellen sie einen festen Sitz aller Schrauben sicher. Beachten Sie die max. Zuladung. Fuhren Sie keine Veranderungen an den Bauteilen durch.

Nicht fur Kindersitze geeignet. Eine Beladung kann zu einem ver&nderten Fahrverhalten fuhren.

EN: Please check that all bolts are thoroughly secured. Do not go over the maximum load capacity. Do not change or manipulate any of the components.
Not suitable for child safety seats. Adding a load can impact the riding characteristics of your bike.

FR: Veuillez vérifier et confirmer que toutes les vis sont bien serrées. Ne dépassez jamais la charge maximale. Ne changez pas et ne manipulez

aucun composant ou piéce. Ne convient pas aux sieéges de sécurité pour enfants. Gardez a l'esprit que l'ajout d'une charge & votre vélo peut affecter

les caractéristiques de construction et de conduite de celui-ci.

ES: Por favor verifique y confirme que todos los tornillos estan apretados de manera segura. No sobrepase la carga méxima nunca. No cambie ni tampoco
manipule ningn componente o pieza. No se ajusta a sillas de seguridad de nifos. Tenga en cuenta que anadir una carga a su bicicleta puede afectar

a las caracteristicas de construccién y de conduccién de la misma.

PO: Prosze sprawdzi¢ czy wszystkie sruby sa odpowiednio zabezpieczone. Nie przekracza¢ dopuszczalnego obcigzenia. Nie dokonywac zmian w osprzecie. Go To
Nieodpowieni do stosowania z fotelikami dzieciecymi. Dodatkowy tadunek moze zaburzy¢ charakterystyke jazdy danego roweru.

MERIDA INDUSTRY CO., LTD.
P.O. Box 56

Yuanlin Taiwan R.O.C.

Phone: +886-4-8526171

Fax: +886-4-8527881

www.merida-bikes.com



